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5. Part-B — There are three scctions : Section-A,

}I
) Answer, Short
This part is of Subjective Type having Very Short

questions

: ber of
Answer & Long Answer Type quesuons. Total num

is 23.

Section-A — Question Nos. 26-34 arc Very Short Answer Type.

Answer any 7 questions. Each question carries

1 mark.

Section-B — Question Nos. 35-42 are Short Answer Type. Answer

any 6 questions. Each question carries 3 marks.

Answer the questions in maximum 150 words cach.

Section-C — Question Nos. 43-48 are Long Answer Type. Answer
any 4 questions. Each question carries 5 marks.

Answer the questions in maximum 250 words each.
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6. Candidates are required to answer in their own words as far as

practicable.

qfemeff quTEYe 3 wsa) ® € IW <

2 Draw neat and clear diagrams wherever necessary.
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8. Candidate has to hand over his/her Answer Book

Invigilator compulsorily before leaving the examination hall.
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9. Candidates can take away the Question Booklet after completion of

the Examination,
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Part-A
HH-A

( Multiple Choice Type Questions )

( Fgfawedraum )

Questién Nos. 1 to 25 are Multiple Choice Type. Each question has four
GPtiOns. Select the correct option and write it in the Answer Sheet. Each

question carries 1 mark. 1 x 25 =25
1

mm 13 25 7 wgfrecdy yor §1 7@% 59 & WR fawes &) 7@ fawe
AR I it d ford | wls w91 1 3% & R 1 x25=25
1. The phcpotypic and genotypic ratio is same i.e. 1 : 2: 1 in

(A) Monohybrid cross

(B) - Dihybrid cross

(C) Incomplete dominance

/LD-}" Test cross

®12/9966 5/ 35




(A) @Wﬁﬂﬁ
(B) ﬁﬁﬁﬁﬂﬁ
(C) mgmf’&mﬁ

(D) gttegm i A

hich nourishes the

2. The innermost layer of the microsporangia W

developing pollen grains is

(A) Sporogenous tissue
(B) Filament
(C) Tapetum

(D) Intine

| m12/9066 |
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(A)  OER Faw B) a4
(C) Wem (D) 3@

IUD stands for

(A) Inter Union Device

ABT  Intra Uterine Device

(C) Infra United Device

(D) Insta Uterine Device
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4, Which of the following

(A) ATP

Oy -

is a substrate for DNA replication ?

_AB)  DNA polymerase

(C) Helicase

(D)  Deoxyribonucleoside triphosphate

| mi172/006e |
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(A)  ATP

(B) M fefmts

(C) M=

(D) fefedruzaI=faraans gEwene

S. Which of the following are homologous organs ?

(A) Trunk of an elephant and forelimbs of a monkey
_,ua)/ Wings of bird and wings of butterfly

(C) Cat’s paw and forelimbs of a horse

(D) Wings of a bat and wings of a cockroach

W 12/9966 9/ 3
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The infective stage of malarial parasite in the salivary gland of

mosquito is

(A)  Streptozoites (B) Sporozoites

(C) Mesozoites
ABT" All of these
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M : (B) SIS

(@ Ay D) A @

/7. Statins are produced by
/(ﬁ]'/ Trichoderma polysporum

(B) Monascus Purpureus

(C) Streptococcus

(D) Penicillium notatum

| 912/9966 | 11/ ¢
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(B) ®TEE WHEE
(C) Q‘Z}ﬁm
(D) fafferam Aew
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The population interaction in which one organism is benefitted and

the other remains unaffected is

AA

(B)

(C)

(D)

J Mutualism
Predation
Competition

Commcnsajism

12
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(A)  arRgERE
B)

(C) T
(D) wEnfm

9, The cell which provides nutrition to the developing germ cells in

seminiferous tubules is

(A) Primary germ cell

/ﬂa‘]/ Leydig cell

(C) Follicle cell

‘(p.)/ Sertoli cell

13 /
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10. As compared to DNA, RNA is chemically

/(}( Equally reactive and stable

(B} Less reactive and more stable

(C)  More reactive and less stable

(D)  More reactive and more stable

L ®12/996¢
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11. What is the percentage of the photosynthetically active radiation

(PAR) in the incident solar radiation ?

D 100% B) 50%

© 1-5% D) 2-10%
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(A) 100%
(B) 50%
(c) 1- 5%
(D) 2-10%

12. The conventional method of ex-situ conservation includes

(AJ Botanical gardcns

(B)  Zoological parks

€] Both (A) and (B)

‘D, None of t-hesc

(™ 1279087
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(A)  wlefwa mdw | (B) wfor 3am
(C) (A) 3t (B) 2 (D) w8 A w§ T
13. The polymerase chain reaction is a technique used for

A1 Amplification of DNA

(B) Amplification of enzymes

(C) Amplification of proteins

BT All of these

| ®12/9966 | 17 / 35



(€) Al & ara & fore
(D) T A aft & forq

14. Anabaena and Nostoc are used as

/[A)" Bio-control agents

(B} Enzymes
(C) Antibiotics

(D) Biofertilizers

. ®12/996¢ ]
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(B) WIS & w9 §

(C) THurafes ¥ wu i

(D} 99 I«H & T H

15. The part of the gynoecium that determines the compatible nature

of pollen is

(A) Stigma By~ Style
(¢) Ovary (D) Synergids

T ®12/9966 | 19 7 35
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16. Which of the following is a test cross ?
(A) TTxTT (B) TtxTt
(C) ttxtt D) Ttxtt
= d A F-m gfleo @ 2 o
A T (B)  TtxTt
(C) twxte D) Texg
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17.  Human chorionic Bonadotropin ( hCG ) is secreted by
,(A')/ Corpus Luteum (B) Placenta
(C) Mammary gland (D) Ovary
HAE WY MASRINA (hCG) wifd & 2

i

(A) g wgfeam g ’L (B) 319U W
(C) = IR E (D) S T

18. Incomplete dominance is observed in

(A) Pea plant (B) Snapdragon

/(_G}/" Dragonfly- (D) Human blood group

W 12/9966 21/ 35
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termination of polypeptide chain synthesis
, GUA
(A) UAA, UAG, UGA (B) UAA, UAG

(C) UAA, UGA, UUA (D) UGU, UAG, UGA

ﬁwﬁmﬁﬁﬁi}%ﬁiﬁ{izt:ﬁtmﬁhaﬁ;i@ﬁ[% . = 1

FI1 8 ?
(A) UAA, UAG, UGA B~ UAA, UAG, GUA
(C) UAA, UGA, UUA (D)

UGU:UAG,UGA

B 12/9966 |
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0. S. L. Miller conducted an experiment in 1953 to support the

(A) Theory of spontancous generation
(B) Biogenesis
4@y Chemical evolution of life

(D) Natural selection

qa.qa.ﬁat%ﬁmﬁwiﬂ%mﬁﬁmsai'mﬁmm?
@A) gl 6w i
(B) StasrA

() S w1 qEriE fawm

(D)  Srpldh T
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21. The first clinical gene therapy
~ (B) Chicken Po¥
' Diabetes mellitus
s
deficiency
(C) Rheumatoid arthritis (D) ADA
een s < e s e 5 o A A7
(A T (B) I A
“ S o D) R FH
22. Organisms that can maintain a constant internal temperature are

called as
(A)  Oligothermic )j,Bj/ Homeothermic
(C)  Poikilothermic (D) None of these

B 12/9966
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(A) ST (B) @A

(©) T D) AW A
23. In case of Bam HI, ‘H’ represents

(A) Genus 4B] Species

(C) Name of the scientist (D) Strain

Bam HI % umwet #, H' &oifal

(A) (B) W

() I w1 Im (D) VA

B 12/9966
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24.

25,

Morphine is obtained from

lant (B) Cannabis plant
A Poppy plan

Dhatura
(C) Atropa belladonna /(D‘l/

wiféa i R a2
(A TEGE F WA PR LEACK:
(C) W aAH A D) U A

Which of the following is considered as molecular scissors ?

(A)  Alkaline phosphatase _(Bf~ Restriction endonuclease

(C)  DNA ligase (D) DNA polymerase

Feiefen 3 @ R smafies &+ o o 2 o

(A) Wi whenes B)  Priv terfRRE
(C) ¥ E o ten
e 12/9966 )
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Part-B
HT-B
{ Subjective Type Questions )
(Reafeam)
Section - A
g - A
( Very short anﬁer type questions )

( afa wg iAo )

Answer any seven questions. L x7=1

meﬁéﬁmin

26 Who discovered the first antibiotic ? Name the antibiotic.

mq‘ﬁ-ﬂmﬁﬁﬁ@aﬁmﬁﬁ? e &1 ™«

27 / 35
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27. Would you consider the wings of 2 putterfly 87 a bat as
homologous or analogous ?
Wﬁﬂ?ﬁaﬁtmﬂ%ﬁ@ﬂﬁwquﬁﬁ?

78. Name the two most biodiversity rich zones of India.

m%amﬁﬁmﬁaﬁﬁwmaﬂ%mmﬂi

79. A haemophillic man marries a normal homozygous woman. What is

the probability

haemophillic ?

%ﬂ%ﬁﬁ%mﬁﬁﬁaaﬁﬁmﬂmw%?

30. Name any two methods of vectorless gene transfer.

'&mtﬁ’asﬁﬂmﬂaﬂﬁﬁa%ﬁﬁ%mm|
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1. What does S-
’ shaped pattern of Population growth represent ?
JHaEm gig W S-3THR 1 ¥ 7 zwiten @ »

32, Why does testis in mammals descend into scrotum ?

TRyt 4 quu sz § o 3w o 2
33. What is primary sludge ?
W w2

34. Name the type of cells that produce antibiodies.

TAATE IR A AT HIAFIA F JHNF1 W AR

" m12/9966 29 / 35
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( Short answer type questions )

(g I9fa 9 )

Answer any six questions. Answer the questions in maximum

150 words each. 3x6=18

Al B: T9Al & IW &1 TS I H I Afuwan 150 =) ° €|

35. What are narcotic drugs ? Give two examples of them and their ill

effects.

I T T P QS s R ) e

[ ®12/90eF
___1_2_[_9_?_5&__1 w12
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36. What a
re the three types of ecological pyramid ? Explain each with

suitable examples.

qitfRfes Rafe % 7 wer 70 & 2 TS B ITYH ITEEN F T

AT

37" In the given figure identify and label A, Band C.

38. Differentiate between gene therapy and gene cloning.

Gﬁﬂﬁﬁaﬂwﬂqw‘rﬁﬂ%dﬁmmt

31/ 35
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39.  Write the full form of the following :

1) IVF i)  MTP ity  STD
Frafefen w1 oof v ford

i) IVF i)  MTP iiij STD

40. What are Cry proteins ? Name the organism that produces them.

What do the differently written terms ‘Cry’ and ‘cry’ represent ?

mmw%?mvﬁawmwsﬁﬁmm% | 37T - 37T

Hﬂ%ﬂ%@W‘Cw'aﬂT‘cw’WEﬂﬁﬁ?

41. Define biogeography. Give one example of biogeographical evidence

in favour of evolution.

aazgﬂaﬁwﬂmﬁaﬁm%swﬁﬁa%ﬁ!ﬁmmﬂwwm

A
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;2. What is Biogas ? Ho :
w do microbes play ap

43.

prodﬂction of biogas 2 important role in the

Section - C
T ug - C
( Long answer type questions )
( ﬁﬁiﬁﬂum)
Answer any four questions. Answer the questions in maximum

250 words each. 5 x 4 = 20

=gl 9m uAt % I 3| IS ¥ B I Aftehan 250 TR # |

What is gene therapy ? Illustrate using the example of ADA

deficiency.
o7 Nt w0 @ > @Y H FHt T ITEW TR FHH
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44,

45.

46.

H 1 ate an thr
What are the various agents of pollination ? St y ee

n wind pollinated and insect pollinatcd flowers.

£z o F T S HE N

differences betwee

e 3 fafr e w & 2 T W A
g B G

What do you mean by infectious diseases ? Name two bacterial
diseases, their causative agents, two symptoms and describe how

to control them.

FFHE A A Y R GAHS & P & A W F AH, ITb HH, Q

s a3 Prifia w0 % e 1 avi

Where does spermatogenesis take place in human males ? Describe

the stages of the process. What is the role of testosterone ?

A T A YRR wE A R 2 T WRRE % =l @ av &)
R w2
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47.  What is meant by paleontology ? ‘Birds have evolved from reptiles.’

How does paleontology provide evidence in support of the above

statement ? ("

e et @ e e 3 2 wet Wl & Faerfe g &1 S R

IR FUF F guely § fFg yeR ey yeE @ ?

48. How was bacterial transformation proved experimentally ? Who has

performed this experiment ?
|
ST wUE ) e w9 A %4 g R e 7 s fEe

I

; .,
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